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10000 |RR&Y—F&E 5|/E# - 1oL RRe—245 | P-30 1
10001 |RR&Y—F& 5|fE#f - 0L RR5—245 | P-31 2
10002 |EFEE 4|1REERTE (RIR) 11818H(1) 14:55-15:45 |HE1415 0-17 5
10003 |/RRG—FK 1| REGIERES RR5—235 | P-04 4
10004 |[EFEE 2|1RkAE 2 11818H(%) 09:50-10:30 |E1815 0-05 1
10005 |/RRG—FK 1| REGIERES RS- | P-05 5
10006 |EFEE 5|15k 1 11818H(%) 09:05-09:45 |5E2415 0-20 3
10007 |FRR&5—Fk 6 | fRA%EE RS- | P-38 1
10008 [RR&—FFEK 1 |[fERBIERES KRR —=15 P-06 6
10009 |EFEE 1|#RReRE (EH) 11818H(%) 09:05-09:45 |FE1815 0-02 2
10010 |EFEE 2|1RkAE 2 11818H(%) 09:50-10:30 |E1815 0-06 2
10011 |EFEE 6|%AEMRE (IOL) 11818H(%) 09:50-10:30 |FE25815 0-23 2
10012 |RRI—FX 7| WARAR - BRI RRE—245 | P-42 1
10013 |RRY—F& 5|fE#f - 0L RRG—245 | P-35 6
10014 |RRY—F&E 3|HE - AR RRe—245 | P-16 05
10015 |/RRG—FK 22, O—E>3>% RS- | P-09 1
10016 |/RR&—FkK 4|0CT - OCTA IRRSG—=35 | P-24

10017 |/RRG—FK 3|HE - R RS- | P-21 10
10018 |[EFE 1|1REERE (BIR) 11818H(%) 09:05-09:45 |E1415 0-01 1
10019 |/RRH—FK 1| REGIERES RR5—24 | P-07 7
10020 |RR&Y—F&E 4|0CT - OCTA RRe—245 | P-25 2
10021 |EFEE 7 R - BRAGAR - pRAE 11819H(H) 10:05-10:45 |FE1815 0-28 3
10022 [RRH—FFEK 6 | tRA%EE KRR -5 P-39 2
10023 |EFRE 6|%AEMRE (IOL) 11818H(%) 09:50-10:30 |FE24815 0-22 1
10024 |EFE 3|[0—-E> 3> - thigEEE (118188 (L) 14:10-14:50 |18 0-09 1
10025 |RR&Y—F& 5|fE#f - 0L RRE—245 | P-36 7
10026 |EFEE 3|[0—-E>3> - thigfEEE (118188 (L) 14:10-14:50 |18 0-12 4
10027 |RR&Y—F& 5|fE#f - 0L RRE—245 | P-32 3
10028 |EFE 8|REEARE (RUARER) 11A19H(H) 10:00-10:50 |5E2515 0-30 1
10029 |iEFEE 8|RAERE (RUARER) 11819H(H) 10:00-10:50 |5E2515 0-32 3
10031 |RRF—FX 4|0CT - OCTA RRE—245 | P-26 3
10032 |RR&Y—F& 5|fE#f - 0L RR5—245 | P-33 4
10033 |ERE 4|1REERE (RIR) 11818H(1) 14:55-15:45 |FE1415 0-13 1
10034 |/RRG—FKK 3|HE - AR RRG—245 | P-12 01
10035 [RR&—FFEK 1 |[fERBIERES KRR —=15 P-01 1
10037 |RRH—F*E 4[{0CT - OCTA RRE—245 | P-27 4
10038 |ERE 4|1REERE (RIR) 11818H(1) 14:55-15:45 |FE1415 0-14 2
10039 |FRR&H—FkK 6 | fRA%EE RRG—25 | P-40 3
10040 |RRY—F&E 4|0CT - OCTA RRE—245 | P-29 6
10041 |FRRG—FK 1| REGIERES RS- | P-02 2
10042 |EFEE 8|REEART (RUARER) 11A19H(H) 10:00-10:50 |5E2515 0-31 2
10043 |EFRE 7 4R - BRRAGAR - pRAE 11819H(H) 10:05-10:45 |FE1815 0-29 4
10044 |[EFEE 3|[0—-E> 3> - thigEEE (118188 (L) 14:10-14:50 |18 0-11 3
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10045 |EFEX 5|15k 1 11818H(%) 09:05-09:45 |5E2415 0-21 4
10047 |/RRG—FK 1| REGIERES RR5—=45 | P-08 8
10048 [RRH—FFEK 6 | tRA%EE KRR —=15 P-41 4
10049 |RR&Y—F& 5|fE#f - 0L RRG—245 | P-34 5
10050 |RR&5—F&E 4|0CT - OCTA RRH—245 | P-28 5
10051 |EFE 7 4R - BRAGAR - pRAE 11819H(H) 10:05-10:45 |FE1415 0-27 2
10052 |RRY—F&E 3|HE - AR RRe—245 | P-13 02
10053 |EFRE 5|1RMkEE 1 11818H(%) 09:05-09:45 |FE2415 0-18 1
10054 |[EFE 4|1REERTE (RIR) 11818H(1) 14:55-15:45 |HE1415 0-16 4
10055 |iEFE 7 4R - BRAGAR - pRAE 11819H(H) 10:05-10:45 |FE1415 0-26 1
10056 |[EFEE 4|1REERE (RIR) 11818H(1) 14:55-15:45 |FE1415 0-15 3
10057 |EFE 2| ke 2 11818H(%) 09:50-10:30 |FE1415 0-08 4
10058 [RRX&—FFEK 7 |mmARAR - BRAL KRR —=15 P-45 4
10059 |RRS—FK 3|HE - AR RRG—2 | P-17 06
10060 |FRR&Y—FE 3|1%E - AR RRe—245 | P-22 11
10061 |EFEE 5|1RMkEE 1 11818H(%) 09:05-09:45 |FE2415 0-19 2
10062 |[EFEE 1|1REERE (EIR) 11818H(%) 09:05-09:45 |E1415 0-03 3
10063 |/RRS—FK 3|HE - AR RRG—245 | P-14 03
10064 |RR5—F&E 5|/E# - 1oL RRH—245 | P-37 8
10065 |RRS—FEK 3|HE - AR RR5—=45 | P-18 07
10066 |RR5—F&E 3|HE - AR RRe—245 | P-19 08
10067 |RRS—FK 3|HB - AR RS- | P-20 09
10068 |[EFEE 8|RAEART (RUBRER) 11A19H(H) 10:00-10:50 |5E2515 0-33 4
10069 |EFEE 2|RkeE 2 11818H(%) 09:50-10:30 |FE1415 0-07

10070 |EFEX 1|1REERE (EIR) 11818H(%) 09:05-09:45 |E1415 0-04 4
10071 |EFE 6|%AEMRE (IOL) 11818H(%) 09:50-10:30 |E2415 0-25 4
10072 |RRY—F&E 3|HE - AR RRe—245 | P-23 12
10073 |/RRG—FK 2|2, O—E>3>% RS- | P-11 3
10074 |RRF—FX 22, O—E>a>E RRe—245 | P-10 2
10075 |iEFE 8|RAERE (RUARER) 11819H(H) 10:00-10:50 |E2415 0-34 5
10076 |EFEE 6|1HAEMRE (I0L) 11818H(%) 09:50-10:30 |5E2515 0-24 3
10077 |EFRE 3|lO0—E>3> - MhEEEE [11818H(L) 14:10-14:50 |FE1815 0-10 2
10078 |RRY—F&E 3|1%E - AR RRe—245 | P-15 04
10079 |/RRG—FEK 1| REBIERES RR5—=4 | P-03 3
10080 [RR&—FFEK 7 |mmARAR - BRAL KRR —=15 P-43 2
10082 [RRH—F* 7 |mmfR4R - BRAL KRR -2 P-44 3




